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OOoooood $0(og n)$Q

void split(int k,int &K1,int &k2,int v
Ik kl=k2=0,void();
node k] .val<=v
kl=k;split(nodelk].ch ,hode[kl].ch ,k2,v);pushup(kl);

k2=k;split(nodelk].ch ,kl,node[k2].ch ,V);pushup(k2);

000 $\text{split}$ 0000000 $\text{sz}$ O $\text{fhqtreap}s 000000

void split(int k,int &k1,int &k2,int rk

Ik kl=k2=0,void();
pushdown (k) ;
node | node k| .ch .Sz+1<=rk
kl=k;split(nodelk].ch ,hode[kl].ch , k2, rk-
node | node k! .ch .5z-1);pushup(kl);

k2=k;split(nodelk].ch ,k1l,node[k2].ch ,rk) ; pushup(k2);

$\text{merge}$ 00O OOO0O $r$ 0000000000 DOOO0OOODOOOODOOOOODOODO
goo
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00 $\ttext{merge}$ 00O OO0 $k1$ 0 $k2$ 0000000000000 OOOOOOOOO
$\text{Treap}$ DO OO OO0 $0(\log n)$[

void merge(int &k,int Kk1,int k2
k1] | 'k2 k=k1l|k2,void();
node/kl!.r>nodelk2]|.r
k=k1l;merge(nodelk].ch ,hode[kl].ch ,k2);pushup(k);

k=k2;merge(node k|.ch ,kl,node[k2].ch ;pushup (k) ;

00 $\text{split}$ O $\text{merge}$ 00O O ODOOODOODOO

oot

goooon

[0 0 p6136

const int MAXN=2e6+5;
struct fhq treap
int root;
struct Node
int val,r,sz,ch ;
node[MAXN] ;
int pool[MAXN!,top,tot;
int New(int v
int x=top?pool|top--|:++tot;

node|x]|.val=v,node[x|.r=rand(),node[x|.sz=1,node[x]|.ch =node|[x|.ch =0;
X;
void Del(int x x)pool|[++top|=X;
void pushup(int
k) {node k] .sz=node|node k].ch .sz+node node k].ch .Sz+1;
void split(int k,int &K1,int &k2,int v
Tk kl=k2=0,void();

node k] .val<=v
kl=k;split(nodelk].ch ,hode[kl].ch ,k2,v);pushup(kl);

k2=k;split(nodelk].ch ,k1l,nodelk2].ch ,V);pushup(k2);

void merge(int &k,int kl,int k2
'k1| | k2 k=k1l|k2,void();
node/kl|.r>node[k2|.r
k=k1l;merge(node/k].ch ,nhode[kl].ch ,K2) ;pushup (k) ;
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k=k2;merge(node k].ch ,k1l,node[k2].ch ;pushup (k) ;

void insert(int v
int lef,rig;
split(root,lef,rig,v);
merge(lef,lef,New(v));
merge(root, lef,rig);

void erase(int v
int lef,mid, rig;
split(root, lef,rig,v);
split(lef,lef,mid,v-1);
Del(mid);
merge (mid,node|[mid].ch ,node[mid]|.ch ;
merge(lef,lef,mid) ;
merge(root, lef, rig);

int rank(int v
int lef,rig,ans;
split(root,lef,rig,v-1);
ans=node| lef|.sz+1;
merge(root, lef,rig);
ans;

int kth(int rk
int pos=root;

true
rk==node node|pos|.ch .SZ+ node|pos|.val;
rk<node|node|pos|.ch .5z+1)pos=node|pos]|.ch ;
rk-=node  node|pos|.ch .5z+1,pos=node|pos|.ch ;

int pre(int v
int lef,rig,rk;
split(root,lef,rig,v-1);
rk=node|lef|.sz;
merge(root, lef,rig);
kthirk);

int suf(int v
int lef,rig,rk;
split(root,lef,rig,v);
rk=node|lef|.sz+1;
merge(root, lef,rig);
kth(rk);

tree;
int main
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int n=read int(),m=read int(),opt,x,last=0,ans=0;
n--
x=read int();
tree.insert(x);

m--
opt=read int(),x=read int()"last;
opt

tree.insert(x);

.
’

tree.erase(x);

’

ans”™=(last=tree.rank(x));

.
’

ans”™=(last=tree.kth(x));

’

ans”=(last=tree.pre(x));

’

ans”™=(last=tree.suf(x));

’

enter(ans);

’

goooon

00 p3391

const int MAXN=1e5+5;
namespace Treap
int root;
struct Node
int val;
int r,sz,ch ;
int flip;
node[MAXN] ;
int node cnt;
int new node(int v
int k=++node cnt;
node k| .val=v;
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node|k].r=rand(),node[k!.sz=1,node|k

node k| .flip=0;
K;

#define lch(k) node[node[k].ch[0]]
#define rch(k) node[node[k].ch[1]]
void push up(int k

node|k].sz=lch(k).sz+rch(k).sz+1;:

void push flip(int k
swap(node k|.ch ,nhode|k].ch
node k! .flip™=1;

void push down(int k
node k| .flip
push flip(nodelk].ch ;
push flip(nodelk].ch ;
node[k]|.flip=0;

’

void split(int k,int &k1,int &k2,int rk

Ik kl=k2=0,void();
push down (k) ;
lch(k).sz+l<=rk
kl=k;
split(nodelk].ch ,nhode |kl
push up(kl);
k2=k;
split(node/k].ch ,k1,node
push up(k2);

void merge(int &k,int kl,int k2
Ik1l| | k2 k=k1l|k2,void
node[kl!.r>node[k2].r
push down(kl);

k=k1;
merge(node|k].ch ,hode k1l
push up(k);

push down(k2);

k=k2;
merge(node k! .ch ,k1,node
push up(k);

int Stack[MAXN];
void build(int k

.ch

k2

.ch

k2

.ch =node| k

.ch

.ch

,k2,rk-lch(k

,rk);

K2);

.ch

nSZ=

.
’
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Ik o
build(node[k].ch C
build(node[k].ch :
push up(k);

void build(int *a,int n

int top=0;

Stack|top|=0;

node Lr=0x7fffffff;

_for(i,0,n
int k=new node(alil);

node k| .r>node!Stack|top!|.r)top--;

node k|.ch =node| Stack|top]!.ch ;
node|Stack top]||.ch =k;
Stack[++top|=k;

node .ch =node .ch =0;
root=Stack C
build(root);

void flip(int L,int R
int lef,mid, rig;
split(root,lef,rig,R);
split(lef,lef,mid,L-1);
push flip(mid);
merge(lef, lef,mid);
merge(root, lef, rig);

void dfs(int k,int *a
Tk 0
push down (k) ;
dfs(node/k].ch ,a);
allch(k).szl=nodel[k].val;
a+=Lch(k).sz+1;
dfs(node[k].ch ,a);

int a/MAXN];
int main

int n=read int(),m=read int();
_for(i,0,n)alil=i+1;
Treap::build(a,n);
m_-
int lef=read int(),rig=read int();
Treap::flip(lef,rig);

Treap::dfs(Treap::root,a);
_for(i,0,n)spacelalil);

.
1
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